9TaxX

9TaxX

9TaX

I[TPOJAHO
kBaptupa Ne30
(cTp.11)
So.=106,3 M2
S nm = 12,4 M2
IIena nmo

3ampocy

[TPOIAHO
KBaptupa Ne25
(cTp.6)
So0.=106,3 M2

Snm =12,4 M2
IIena mmo
3anpocy

[TPOIAHO
kBaptupa Ne20

(cTp.1)
So.=128,2 M2
S n.om. = 40,7 M2

IIena o

3aIpocy

I[TPOOAHO
KBaptupa Ne29
(cTp.12)

S 0. = 55,7 M2
S n.m. = 4,6 M2
IIena no

3ampocy

[MTPOOAHO
KBapTtupa Ne24

(cTp.7)
S 0. = 55,9 M2
Snm =4,7 M2
IIena o

3aIlpocy

[TPOOAHO
kBaptupa Nel9

(cTp.2)
S o0.=97,3 M2
S n.om. = 52,8 M2
IIena oo

3alpocy

I[TPOOJAHO
kBaptupa Ne28
(cTp.13)

S 0. = 55,3 M2
S n.m. = 4,7 M2
IIena no

3ampocy

I[TPOOAHO
KkBaptupa Ne23

(cTp.8)
S 0. =554 M2
Snm =4,7 M2
IIena o

3aIIpocy
IMTPOJAHO
kBaptupa Nel8
(cTp.3)
S o0.=96,1 M2
S mm. = 51,9 M2

IIena o
3ampocy

1 momwe3n

I[TPOOAHO
KBaptupa Ne27
(cTp.14)

S 0. =553 M2
Sno =4,3M2
ITena mo

3ampocy

[TPOIAHO
KBaptupa Ne22
(cTp.9)

S 0. = 55,5 M2
S n.m. =4,3 M2
IIena mo

3aIIpocy

I[TPOOJAHO
kBapTtupa Nel7
(cTp.4)
So0.=973Mm2

S n.o. = 52,8 M2

IIena mmo
3ampocy

Bmox Al

I[TPOOAHO
KBaptupa Ne26
(cTp.15)
So.=112,1 m2
S n.m. = 9,5 M2
IIena oo

3ampocy
[TPOOAHO
KkBaptupa Ne21
(cTp.10)
So.=112,2m2
Snm. =95 M2

IIena mmo
3ampocy

[TPOOAHO

kBaptupa Nel6
(cTp.5)
So0.=132,7m2
S n.o. = 37,3 M2
IIena mmo

3aIpocy

9TaxX

9TaxX

9TaxX

I[TPOOAHO
kBaptupa Nelb
(cTp.26)
So.=112 M2
S n.m. = 9,4 M2
ITena mo

3ampocy
[TPOIAHO
kBaptupa Nel0
(cTp.21)
So.=112,2 M2
S n.o. = 9,5 M2

IIena o
3aIlpocy
I[TPOOAHO
KBaptupa Ne
(cTp.16)

S o0.=132,7 m2
S n.om. = 37,3 M2

IIena o
3anpocy

I[TPOOJAHO
kBaptupa Nel4
(cTp.27)
So0.=55,4 M2
S n.m. = 4,3 M2
IIena no

3ampocy

I[TPOOAHO

KkBaptupa Ne9
(cTp.22)

S 0. = 55,5 M2

Sno. =4,3 M2

IIena o
3allpocy
IMTPOJAHO
KBaptupa Ned
(cTp.17)

S 0.=97,5M2
S n.m. = 53 M2

IIena o
3anpocy

I[TPOOJAHO
kBaptupa Nel3
(cTp.28)

S 0. = 55,3 M2
S n.m. =4,7 M2
IIena no

3ampocy

I[TPOOJAHO

kBapTupa Ne8
(cTp.23)

S 0. = 55,4 M2

Snmo. =4,7M2

IIena mo
3aIIpocy
I[TPOOJAHO
kBaptupa Ne3
(cTp.18)

S 0. =953 M2
S nm. = 51,1 M2

IIena mo
3ampocy

2 mogbe3n

I[TPOOAHO
kBaptupa Nel2
(cTp.29)

S 0. = 55,8 m2
S nm. =4,7 M2
IIena oo

3ampocy
[TPOIAHO
kBapTupa No7
(cTp.24)
S 0. = 55,9 M2
S o =4,7 M2

IIena mmo
3aIpocy
I[TPOOJAHO
kBapTupa N2
(cTp.19)
So0.=975mMm2
S n.m. = 53 M2

IIena mmo
3ampocy

[TPOOAHO
kBaptupa Nell
(cTp.30)
So.=123,1m2
S n.m. = 15,9 M2
IIena nmo

3ampocy
[TPOIAHO
KBapTtupa Ne6
(cTp.25)
So.=123,1 M2
S nm. = 15,9 M2

IIena mmo
3aIpocy
[TPOOIAHO
KBaptupa Nel
(cTp.20)
So.=128,4 M2
S n.m. = 40,9 m2

IIena o
3ampocy




